5.3a Factoring Trinomials of the form x*+bx+c

What Trinomial is represented by these algebra tiles?

Pl (eu)(x2) = X +bx +8
XL . I I I I (263)(a9) = X +8x +\§‘
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Tiles placed along the top side and left side, represent the

factors:__ Xl and X4

We can check our conclusion by multiplying the two binomials.

(R ) = K e Ux )k +8

2
Thus, the trinomial _ X +bx+& is a product of _ 42 and _X*+Y

Model the trinomials x*+5x+6 and X*+3x+2 with algebra tiles. What are the
binomial factors that multiply to give each as a product?
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We can also factor without the use of manipulatives. When trinomials are of the
form x* +bx+c, a pattern forms between the b term and the ¢ term.

Trinomial Binomial Factor Binomial Factor
X* +5X+6 X+3 X+2
X* +8x+12 X+2 X+6
x* +3xy —18y° X+6y X—3y
X* +4X+6 Cannot be factored

What patterns do you notice in the table above?
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We can factor by listing the factors of the ¢ term and then choosing the two which
ADD to give the b term.

“§x3 by My a2
Factor: x*+11x+24 Factors of 24: 83 6% 24 \2x1
Two factors that add/subtract to +11: 8 and 3
(X*B\ () = Xk Y ’)(1 —1ox ¥4 = (X-é\(l-‘f)
x? +12x+20 n*+5n+6 n’—5n—24 p’+p-90
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REMEMBER! Always look for a GCE  firstl
4* +12x+8 = W ()Kl+ 3%+ 2.3
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